EARAROBEEIERT — 2 N— IBISH —F

20185F8A7H (X) 9mPIRIA

KW ABx+v S [ESvx—] B C4 ¥5F—MH (w8 | imEmml - |5 5) oo 8
[AE£] 1% :250,000 ™ ~ 23#%&:50,000"  33&:38,000H  47&:2500MH ~ 57&:12,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
I A+ EEA :18. - . - )88 (Ew)
N - BEEEYIEE SR iy A R et e
LN—HINK BNX—TIS s e
. 8 4 3 | WTHA 1:19.1 1-1 “n8l — 3 418 | EZRAM (L&)
N« NEPZL VR 54.0 @ o | B JpNEs
LT RIAYTwNr Bria—tf v =— EE S
L B 3 | BEEC 1:19.3 1-1 20| — 1 426 | BERIBK (ALiEE)
3|55 Y7LAY 54.0 A 1/2) (+4) | =FEER .
x40 B:NnZ—E-— JliEsEie]
= 3 | KEAE 1:19.4 3-4 42.0| — 4 424 | IBFIBR (LiEE)
4077 =3R~% 56.0 (7€) o |=HRE -
R:Fh¥<71x8 B:T7IT7-TI AR 8
I S5 PET S 19, - 6| - BO%E GtEw
5 2| v SN T T i3 54.0 = 1(11/92)5 o 4.6 6 (4;4) kﬁ‘;?— o
R:TFyIa%S—F BN {F—U2 P A
N \HRIEE :20. — . = EAEKE (ted
61111 AL hIAF— ie 234.0 1(230)1 66 2.0 ° (tS:) *’Rik?—ﬁ -
LI TATIA LN B:vI—T14—> el e
. o4 | BHA 1:20.5 7-7 420.6| — 7 | 486 |fEEERER (LimE)
] 4|\ 7=Fv7 56.0 @ o) | B LS H 27957
L ZZH= R B:IT7TrLF EiEirse]
® I —F—EBIERL
13—7+—
20—F—
Jol=5r= (5,6),7,3,2,1,4
40—F— (5,6),3,7,2,1,4
[ N3
BB 3 270H 714K 3-6 180H B = 3-6 340M 3EHE 3-5-6 220M
8 B 3 140 &= 130M B H 3-6 620M K31 3-6-5 1,080M
6 130M 5-6 160M

ABICOVWTRDTEEERROODE. TR LIV,




